QUESTION BOOKLET

This question paper contains 200 questions. / 38 574 79 3 200 5 € |
All questions are compulsory, / w9 3ThEd € |

One question carries half mark only. / T ¥ 5 forg et ST FHEl
Maximum Marks : 100 4 . arfirerag 376 : 100
Time : 2 Hours g : 2998

1. Which is not open source software ? )
(A) Star {Jfﬁ_‘ce (B) Libre Office (C) MS Office (D) Open Oftice
N A S T AR T f 2

(A) RRaTRE (B) T aitea  (C) TH-UA IGA(D) I HTHA
2.  Who invented word processing ?

(A) 1BM Company (B) Microsoft Com
(C) INTEL Company o)
< T TET o aTferenn faraa foman 2 - g

(A) s =.un.
(C) & H

3.  Which is not word-processing softyy? )
[ 1 X ! \ (D) wnl'd Stﬂ.'l'
4. - nts are there in modern word processor ?
F HEAEAHC R 8 ?
©) 4 (D) 5
s, me is not included in Libre Office Suite ?

B) Calc (C) MS-Word (D) Impress
?F%THT W e a8 ?

(A) TEH (B) $v (C) W-wawd (D) T

6.  What is template in writer programme ?
(A) Pre-determined form and mode of document file
(B) One kind of style
(C) One type of document
(D) Cluster of documents in wriler programme
e ST A j*_ma'g’w% 7 )
(A) Ta-Fraff BT 3 GEE e e
(B) T TR < el
(C) TF Vel 1 GHITaa _
(D) T2t Wi o gEaa] il Fereet

3
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7. In Writer programme, in which menu 1§ Auto Save

- Tools (D) Insert
(A) Fil (B) Edit (C)
Tz St , v B v e v e & 2 .
(A) w5 (B) tufgz (C) &H .
> ;:];Eflt:li:t:?;n;iider poesled | (B) In standard tool bar
(C) In format bar (D) In drawing tool bar
¥ WATEST el e g 0 ) :
(A) Rawand  (B) @edzmand(C) wHeand (D) TS aRd
' ing in MS- int time spacing.
(A) 12 (B) 15 (C) 20 (D) 25

10. In a document, what is the maximum number of columns that can be
insene_ﬁ in MS-Word Table ?

Eﬁ@zﬂ@—@ﬂééﬁﬁﬁaﬁlﬁwmﬁﬁmmﬁmmﬁ?

(A) 43 (B) 53 (C) 63 (D) 73
11.  What is the default file extension for all word documents ?

H‘ﬂﬂéﬁ?ﬂ@z%ﬁq%ﬁﬁ%@ﬂ%mm%?

(A) .axts (B) .word (C) .docs (D) .docx

12. By default, your document prints with
(A) 1.25 inches left and right margins (B) 1 inch top and bottom margins
(C) a portrait orientation (D) All of these
T %ﬁe_mﬁmzw%mﬁzﬁm%
(A) 1.2539 9 3R g wifarn (B) 1¥9 ¥ 3fk 7t zrfipay
(C) T vigz srfifamm (D) Amh

13. What do you call ‘a collection of character and paragraph formatting
commands’ ?

(A} the defaults (B) a tcmpiﬂtg {C} a St}']E (D) a boilerp|

‘ﬁ oy " . : 2 at

(A) B (B) (C) == (D) =enwrz
14. Which enables you to move directly to specific location i

(A) Sub documents (B]J] Enﬂkma_r;(n: Ina document ?

(C) Cross references

ﬁ?ﬁaﬁqﬁeﬁﬁﬁmnﬁ?mﬁrﬁﬁﬁﬁ?m} qu;gge‘;wmga
(A) FI3TaicE (B) gwume

(B) ©) waw@m (p) HTIzemen
Code No. - C-B03/2022/Series-A ——
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rlink” ina document of these

15. What is the shortcut key to” lnser‘LIIwPE} cirl + K
Cul+H (B) Clr1+L i
&Fﬁmﬁnﬁn S EIEE <l ?‘::ntﬂ}{? (D) it A IS AR
(A) Cul+H (B) Curl+L [C] is a]readyinstalled

16. Number of personal computers in which word processor :
is about wo7fE &, S
ﬁﬂﬁﬂ?ﬂ:@ﬂ[?ﬂ}ﬁlﬂwﬁm‘qaﬁ qﬁfﬁ (D) 90%

(A) 25% (B) 35% (C) 65% formation for later

17. Special part of computer memory 0 temporarily hold Inio
use is called (D) CRAMS

oM B) Clipboard _(C) Deskiop T
0, ¢ o At & o et 1
A1 &, HEATA B . S
(A) ROM @) fw (€ ¥ (D) CRAM
. le of a block move operation IS .

16 ﬁ)téﬁﬁ:dnpausmm d (B) Deleting a character S &
(C) Inserting a character (D) Both (B)and (C) =
AT I STEH F1 T IaTE
(A) azq;inz (B) T il &I
(C) T it gTerl (D) (B)d(C)EHI

19, Boilerplate is
(A) commonly used by individuals who create documents that contain

standard paragraphs.
(B) quickly being replaced by word processing software.
(C) used by professionals for making copies of important documents.
(D) None of these
FTIeE &
(A) mﬂllnlmmmmmal%dimmw
(B) TS Wt siweaa gr v & vy
(C) eyl STwpie Y ot =1 & fere it g gy
(D) ¥ & {7

20, Windows are especially helpful for
(A) Moving text between files (B) S
C) Cut and Paste npe;tiuns (D)% EETLE?BE}THEEF{%CE Operations
(A) STET & WS 09 g Ty
(C) =2 3 T W= & .Egj ﬁ"'ﬂ‘f@rﬂﬁmw

D). (B) 3 () 2
5
Code No : cmrm———
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2.  Which was the chief feature of RIg} Edl;)fe {fforﬁhip 0
(A) Performance of sacrifices D) Predominance
(C) Beliefin existence of life after death (
'ﬂﬂaﬁﬁuﬂﬁaﬁwmwiﬁ? B) Hﬁi“l?”
(A) mﬁfaig' e g et &t g
el 8 hegrh sfee N sue of which Edict ?

22. The proceeding of the Fourth Buddhist Cgunﬂlg;’-'i‘i;‘; the 15 (D) Bhabra
(A) Sanchi (B) Sarnath a;() S e o 7

g griifa o feraor 3 for TR
?fqu (B) mem®  (C) (D) ¥

23. The Huna leader Mihirkula was defeated by
(A) Rajyavardhana (B) Chandragupta
(C) Yashodharman (D) Buddhagupta
o1 o Thfie foredl wo gam T 7
(A) THEER (B) Wmw (C) (D) FEIW

24, Which Rajput dynasty did not surrender to Akbar ?
(A) Parmar  (B) Pratilara  (C) Rathor (D) Sisodiya
form Trorqm o 3 v & | | A e 2
(A) TER (B) whER (C) N (D) foeifean

‘_}5'." The most famous court poet (in Hindi literature) of Akbar was

f images
of female goddesses

Eg’ Efkgm (B) Surdas

ulsidas (D) Abdur Rahim- o
mmmmmﬁ(ﬁﬁqﬁa{ﬁ)mm ahim-Khan-i-Khanan
(A) T@EH (B) e

(C) gevwiiera (D) et @'ﬂ—'@ﬂ-—ﬂ;-—‘@‘m

26.  The famous monastery at Vikramasila was founded by the

(A) Senas (B) Rashtrak
fersmsfien i nftrg g ﬁmﬁmmgg%ﬁgp?ms (D) Palas

(4) & (B) g
©) =
. Mahabharata is also known as ) T

(A) Chhandogya
(C) Vijay Pitaka (B) Kathavatthy,

th—ﬁ%“ﬁ‘ﬂmﬁ?n Jayanama-ltihasy
) S ®) L (C) ﬁﬁﬁrﬁa

Code No, : C—M {D} qu-g'%—gm
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287 Mongols intruded into India for the first time c:;;lrll"g the reigh
(A) Alauddin Khilj (EJ} ﬁfmmis
(C) F:rg.:qﬂ#:ﬂ?ﬂ';l"u hlaﬁaﬁﬁ‘ﬁﬁ . 'gmmﬁgﬂﬁa |
(A) IeReH Raersf (B) =T
(C) Tt ome greTh (D) Fega
g] The Hijra era is counted from 1526 AD
s %}, 622 AD {igﬁﬁ%nm ©) 712aD (D) \
R O R 4. 1526
(A) $7.6223 () $m 6328 (O {m. 7128 (D) g
’ Who were the first to issue gold coins in India ? i
.3“’ (MD :;fﬂm B) gﬁlﬁﬁ H(ac_i')erh;ughals (D) Brius
T B FEwes = .-
(A) ¥ ® Fm (O T D)
{. The Delhi Sultanate virtually ended due to the invasion of @am
¥ (A) Changhiz Khan (B) B?bm‘ %‘E’;ﬂ
C) Nadir Shah (D) Timur
Hewa 1 3 T F ITTHRU & HT BT |
(A) ¥MEF  (B) AR (C) mmmE (D) W
_;af The first main British Parliamentary Act regarding East India Company’s
administration in India was
(A) Rowlett Act (B) Regulating Act
(C) Charter Act of 1913 : )} Pitts India Act
wirta # 2 §fean a3 sramme & e o wem e fafew TR o
(A) etz T (B) Yeifén v
(C) 1913 FTIRTR (D) fiew Sfearuae
3 le-:n cg;ll;ii nnts Eiﬁﬂma by the British in 1857 ¢
O i e
I 1857 3 fafees g g 7 v 7 d
(A) TR (B) WEWE  (C) TR ©) ey
}é. The resolution to start the Quit Ind _
. 1a Movement wag
session held at adopted by INC .
(A) Bgmbayma;g[%}g Lahore (©) Caloutts Its
WAL A S & calcy D _
Ffrem fFan T en 7 “W%@@mﬁ(ﬁ%ﬂﬂ%
(A) &= (B) =mdx ©) s W=
I G B
e No, : C-Eﬁimnnﬁ::r______
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37.

3.

390

(D) Dalhousie

ari was started by Munro
0 Vellley  (B) Hasings (D) e
hﬁaﬁﬁﬂgm&?;)ﬁ smi (© 7l 4
(A) Seiwre! s
Who presided over the Cabinel Mission Clement Attle

(A) Stafford Cripps (D) Sir P. Lawrence

C) A.V.Alexander o
) ﬁqma?tm&mﬁ#f?ﬁl? © q_di.q@lﬁﬁ(m g dl. &

(A) BwE fFm  (B) feerie el Mahatma Gandhi during

What was the name of the periodical published by

his stay in South Africa ? _
(A) N};l‘m’jivan (B) Ind!a Gazt?ttlﬂ

(C) Alrikana (D) Indian Opinton e
e T 2 3 2 sk i Frame 3 QA T Gl ;

(A) T (B) sfemme (C) (D) 3z anfafEm

The first Round Table Conference was held in

(A) London  (B) Edinburgh (C) Dublin (D) Calcutta
TR TeTH e §H1 9]

(A) e H (B) Tsaid  (C) SEEMHA (D) HelehulH

The All India Muslim League was formed in 1906 at

(A) Aligarh (B) Dacca
T, 1906 T et 3iean gieem ofim C}EHI;T“;T]‘““W (D) Lahore

(A) sefe s (B) wmrdd € wed (p) Y3

30./ Who coined the slogan *Jai Jawan Jai staﬁ' ?

41.

(A) Mahatma Gandhj

; (B) Jawah

(C) Lal Bahadur Shastr arlal Neh

mem;??:ﬂﬁmﬁm ‘.’{D} Sardar Pate] ru

(A) wETeH My R

(C) =t =&y e ED; VTR S
Qe g

Who presided over the inaugura] :

India ? Meeting of the ©

(A) Sachchidanands s; Onstityent

;% %_. Rajendrs Pfas ;Eha Eg} BR Ambe, Assembly of
ikl YT = 2727 ar

(A) HRERRE Ry N ey nggﬂdra

(C) . Tz vare (B) . 3m ki

Code No. : C-803/2022/Series. 4 ) (D} i :ﬁﬂ 3“.‘%3?5(
8
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46.

Which is the lower house of Parliament 7

(A) Vidhan Sabha (B) Lok Sabl;f
(C) Rajya Sabha (D) None of these

To s s ? s
s a1

A) femmn @) dman (€ @ (D) ™

Who is the ex-officio chairman of Rajya Sabha ? . E@@

(A) President (B) Prime Minister [#:c ]

(C) Lok Sabha Speaker (D) Vice President

T4 91 1 957 HAFT HHEI 6 7
(A) Tgafa (B) WWRE  (C) WEEMaER(D) SI-TEIA

Who has the final power to maintain order within the House of People ?

(A) Marshal of the House (B) Prime Minister

(C) Speaker (D) Chief of Security Staff
T AT o 3T ST 9T TE 1 3w R R T g R ?
(A) ¥EF & A (B) wa=w=N

(C) aremey (D) & R=TH 3 TIE

Amongst the questions allowed by the speaker, which is regarded as the
most important ?

(A) Unstarred (B) Starred

(C) Supplementar}; . (D) Short Notice
mmmmnﬁaﬁqmwﬁnﬁq@mm% ?

(A) Jmmifda  (B) anifeq (C) T (D) ¥ =
Members of the Rajya Sabha are elected according to |

(A) Cumulative Vote System

(B) Single Non-transferrable Vgte System
(C) Single Transferrable Vote System
(D) None of these

U] §91 & HeH ¥ TR T e
(A) "<t 7 womeh maE
(B) et HEETN 7 oy

(C) THeT TEATHY W yomrah

(D) ¥ & Fr 7]
X
Caa ——
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When can a President us¢ hi

(A) Inall circumstances o k Sabha

(B) In no circumstances . vs g clear majority 10 the Lo

(C) When no political party €% ¥

(D) None of these . g B Gl

e <t frgfea # agafd fem 4

(A) wfi gftRufegi §

(B) frftsfi i gl

©) wmmm&mmﬁﬂﬁwﬁmmﬁﬁ

(D) T A 7] | ,

Who acts as the President of India when neither the President nor the Vice

President is available ? .

(A) Speaker of Lok Sabha (B) Chief Justice of India

(C) Auditor General of India (D) None of these

gmﬁmﬁ%mﬁﬁqmmamﬁlmﬁraﬂwm—mﬁm
?

(g} m;mﬂ‘fqﬂ (B) WRW % &7 =ranefier

() S et (D) & T

Government imposes taxes to

(A) runthe machinery of the state

(B) check accumulation of wealth -
(C) uplift weaker sections among the rich
(D) None of these

HEEAT T 3

(B) ﬂﬁﬁ?ﬁﬁﬁﬁwﬁf%mﬁqﬁ?&h
(®)) m’fﬁ‘f%mﬁ%ﬁm

) (D) T & % 7]
50.  The Chief Justi
w A) Pr:e:,i ;:;:’ﬂﬂ and other Judges of the High Copy
© Govemor () ChietJugicy o poinied by the
e & Chief Ag:. s ia
(A) Wﬁmﬁmwmm hief Minister
(C) T g B) W 35 1y 1 STt &

Code No. : C-80 ; iy
32022 Seriga | (D) T&nH} oy aRr
0
-l-n._______
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Which is enforceable in a court of law ?

(A) Directive Principles (B) Fundamental Rights

©) Fund;ﬂ:mal Duties (D) Preamble

AATeE § & |/ WadS e g 7

(A) e o (B) e AN

(C) wiieTs Fieq (D) W&

Recognition to litical is accorded by . :
(A) Eresidcnl AP (B) Vice President E[{f%
(C) Election Commission (D) CAG

forel Trendiforss oot w1 e e o STl 8

(A) e gm (B) 39-Trgafd &0

(C) T M g (D) HTEM

In the Constitution, setting up of a village panchayats finds mention under

i i i Article 51A
(A) Articled0 (B) Afticleds (C) Articled9 (D)
HYR B 17 e 8 e e e Jeeiian & 7
(A) =540 (B) ¥FWeds (C) =49 (D) =98 S1A

Term of CAG of India is

(A) 5 years

(B) 6 years

(C) 65 years of age

(D) 6 years or 65 years of age whichever is earlier

WA % 7 (CAG) &1 FHdHTe

(A) 54 (B) 6

(C) 654 M (D) 6T 6534 amg, A fivgd
The Anti Defection Law was enacted as carly as 1979 in

(A) Kerala (B) J&K (C) West Bengal (D) Tamil Nadu

Tel-agel faY w0 Fa9 98 1979 F @] gan
(A) ¥ (B) SAFWRA(C) witam amer i (D) aftrerg &

A tax that takes away a higher pro
rises is termed as

(A) Indirect‘tax (B) P -
o A e - Poprionl
) HEAT &

portion of one’s income as (he income

(A) IMHEF  (B) W} & (C) Hﬁi'lm:ﬁ
(D) R A
}

T Code No. s 68037305
Code No, - c-ansfzuzz'_fsﬁi?i-_.{
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57. Bank Rate means S
(A) Interet Rate charged by Schedules liﬂgintra] Bank of a country
(B) Official rate of interest charged by tf %
(C) Rate of profit of the Banking Insmsiti
g;) Interest rate charged by money-lender
ﬂwﬁ . %’m ERIGERIE RS
A A
{(B; Foreh S o i e g0 SwTRa T8 1 SRR
(C) fem wwam & & il
(D) HTETI gr i =

\.591‘ Life Insurance Corporation is an example of

(A) Co-operative Bank (B) C”‘"memiﬁ:~3@kc‘:ﬁi

(C) Inve%ﬁ:{m Bank (D) Developme Y m?,k }
T JTE B N SN

(A) FEST &% B) /ST

(C) frw s | gb}\@ﬁﬂgﬁﬁ

! ' U .
5{. The period of the first five yearp '1?":'},'-'&%3-

(A) 1947 to 1952 (B) wqéi 01956 (C) 1956 to 1961 (D) 1961 to 1966
(W) 194781050, (8195131956 (C) 1956 1961 (D) 1961 & 1966
50 th:p?f‘ﬁd%gfm‘f:i Durgapur, Bhilai and Rourkela were established during
(A) FirsbFive Year Plan B) S S
(C) Third Five Year Plan }D; Nii{:n:frl‘lll";: cir Han

: 3N T & DET
(A) rm eadfa s Wmﬁm?ﬁéﬂ%mﬁ*ﬂ'

: A (B) fadfm 3
(C) Tar T==fa g (D) Wi &
6. O i it
rﬂr;{zﬁgjsﬂtmgnmmal unit is the average distance between which of
Eé} JE:u'ﬁ1 and Sun B) Earth ang o e
e upiter and Sun ED Pluto :ﬂd g’[ﬂﬂﬂ
Eﬁiﬂiihﬁﬁﬁdﬁqﬁﬁﬁ#m 3tae -

(A) T ST (B) g iz A
62.  When does tides rise jn sea ? Q) Sﬂtrﬁm) el 3ﬂ-n;Ef

A) Only on lunar dgy

C) When moon is op first phase &3},} Full moon ang half mogop

(A) g

27 Only half moop

(% scanned with OKEN Scanner
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69.

i ines i as
The network of the series of vertical and h:::nz::mtal [tmes is known
(A) Latitude (B) Grid System

(C) Longitude D) Geographical Co-0
ettt 31k A s sy 1 s e &

(A) &7 (B) frsfae .
(D) sinitfera e o

rdinates System

(C) @
Which isohel is the isopleths of

(A) Sunshine (B) Flowering time

;%;Eain v war (D) Clouds
HHAY @1, §HHH {
(A) g () wmam@ (C) T (D)
Which river crosses Tropic of Capricorn twice ? _ e
(A) Vaal River (B) Limpopo River )
gg%rmv%ﬁﬂ mg(%)) Zambezi River

WL 1@ &l B TIR
(A) =& T (B) Fmm=d (C) AR (D) =i ]

‘Steppe’ is related to which biome ?
(A) Grassland (B) Tropical Forest

(C) Savanna (D) Coniferous Forest

‘R FreRm A Eag R 7 _

(A) s FdeE  (B) FuEREAUIE (C) HEHI (D) Fipurdt 4

The sea water is more salty than rain water because
(A) sea creates salt.
(B) air around sea is salty.
(C) rivers pours salt from the soil into sea.
-’E;'E‘F there are salt mines in sea surface, _
ek akiGEiE: EG a:ﬁﬁ;ﬂmﬁamia;;ﬁﬁ;
(A) FERTETEACMER (B) ¥4z % <N 31N a1y ergvirg
(C) et e & waw &gz 4 freeft € 1 (D) mmﬁm:gﬁﬁﬁ?ﬁ% II

What is the ecological system i i e ;
rc]aiinnshi%? - ¢ d nicgrating all living beings and theijr
{A Total Wild Life EB Biosphere
c L“““;ﬂ% e D; Hydrosphere

el S 37 e 1 s S e
(A) FATAAE (B) WA (C) vorepmies T
A wide inlet of the sea usually (D) Semem

_ concave in shape i
(A) Strait (B) Sound PC IS termed a5
mmwmvﬁm:mm%ﬁ% S (D aanrd

(A) JeEAERSE (B) W1 >
2y (C) & (D) fors
e No, - c-ﬂnyzuzzfsé}'i“h

€S-A
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70. Himalayan mountain range is an example of

(A) Volcanic mountains (B) Residual mountains
f’-‘ Block mﬂ“"‘ﬂms (D) Fold mountains

(A) mﬂfzm (B) 3rafire gdal @1

(C) v (D) afera gdal &

71.  Which river is not related to Punjab ?
la‘“ SUHEJ Rawvi (C) Beas (D) Tapn
ﬂﬂ'lélau‘-rﬁt 7
UU m (B) wsh (C) =aH (D) arsh

72.  During the South-West Monsoon, Tamil Nadu remains dry because

(A) itis located in rain shadow area.
(B) temperature is so high that wind does not get
(C) winds do not reach this area. \

(D) there is no mountain in this area.

eftror-wfveam wra &

(B) ATHH I= R aﬁwzﬁ?ﬂn
(C) a4 39 &= a% &l |

(D) ™ a?ru i #rd 'rg
n which of the following states ?

73.
' 3) UP (C) Rajasthan (D) Harvana
EI=iE At U g A fiad ardfi @ 7
(A) ﬂm (B) 3.4 (C) TI=H (D) wf@mon

74. Which is not a cause of soil erosion 7 o
(A) Drainage (B) Deforestation (C) Weathering (D) Grazing

N 1 52 HREA F FA TE R 7
(A)m B) WA (C) ¥ (D) T

ﬁrn scheme of "‘Blﬂﬁ‘Ph'-"'||= Reserve Areas™ ?

osphere Reserve Nilgir Btusphcre Reserve
tl lndlleBl mﬂﬁgvc ?D; Gu of Munnar Biosphere Reserve

w1l .
!ﬂGFIT (B) ﬂaﬁﬁmmﬂ!

7. ﬂﬁ“*ﬂmmﬂa (D) ¥R et g S 43
('g; lﬁﬂ ject is not in Tﬂl&'ﬂ”;',‘:fl"}w (D) Kundah
(A) ygwhy ‘ﬁ'hﬁ;gﬂqéf!)? :
Code Na.; FRer () Wm_ D) FEE®
T4

'L
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5'7' Which nmghbuuﬁng country of India is the largest producer of opium in the

83,

3

world ?

(A) Pakistan B) Afehani SriLanka (D) Maldives
ST 0 37 1 et S s o 4 1 S & 7
(A) wivwm () swmfem () dww (D) WS

India’s biggest tribal group is

(A) Bhil B C) Santhal (D) Tharu
ﬂmaﬂmﬁmmﬁ( ) g%”% SR
(A) e (B) 1z (C) Hura (D) urE

When did India adopt the International Tsunami warning system ?

4 YRE A g e & 7

(A) 2004 (B) 2005 (C) 2006 (D) 2007

In India, there are many coal fields found in EE
(A) Cauvery Valley (B) Krishna Valley *“‘f-_-';_'gq
(C) Ganga Valley A (D) Damodar Valley N
WA | 379 Hdei 87 T3 908 2

(A) FEQEEH (B) Fonwdd (C) Tmudtd (D) @ H

?It)mthtiin you call the study of fungi ?
ycology (B) Parasitology (C) Bacteriology (D) Ecolo
mfm}%maﬁmm ? by ol

(A) aEsEEt  (B) Ytemamis () Adfaiish (D) IHiATA

Early blight is 2 common disease of

g?:') Fﬂfﬂt}ﬂ( mﬁ%) Giﬂaf;,m N (C) Cabbage (D) Cauliflower

(A) SF (B) IF  (C) wmArfiw (D) EET} T

Biodegradable wastes can usually be converted

the help of Into useful substances with
(A) Nuclear Proteins . .

Gume B

e | R A ST el & Sttt e <
(€) oy (D) S

Deficiency of Vitamin D in childreq causes

(A), Beriberi  (B)_Pel |
a-m%ﬁ k w:*q;%;ﬂgmg{m Rickets (D) Scy
(A) #-al  (B) T&m by )
ME) o
Code No. - c’-ﬁﬁ'ﬁn‘.ﬁ}'ﬁ? esA

(% scanned with OKEN Scanner



-t ' "dE
85 Haemoglobin has highes! affinity for ) Carbon diOX!

4 (A) Oxygen ; (D) Nitrogen
(C) Carbon monoxide "
ket LU (L b
(A) Fiafa & wfd (D) T ®

(C) T HHEaRs & ufd

86. The number of teeth whic

Tl § wherenfin 2R are gral @ a6 2 D) 32
(A) 12 (B) 20 ©

,E?:ﬁ The functional unit of ‘Kidney' 1
(A) P%m 3[;)g gNemnn (C) Nephron (D) Artery
IW' r =, - [
() wEr ) @ (€ T (D) 3

88.  Meningitis is a disease which affects the

(A) Kidneys  (B) Liver (C) Heart (D) Brain
trﬁm:ﬁ:aﬁﬁrr%‘a%mﬁﬁm%
(A) TF% (B) TFa (C) &F (D) wfeq=
89.  High level of uric acid in the blood causes
Eﬂ)ﬁ% S gmﬂgh;;; E‘HT%CJ Asthma (D) Tuberculosis

(A) mifeam (B) ®u-wir  (C) areermy (D) wifew

90.  The animal which can tolerate more summer heat is

(A) Buffalo (B) Cow
ﬁ'ﬂﬂﬂﬁﬁﬁmﬁmmﬂﬁgmmg)' Coat (D) Donkey
(&) (B) g (C) ==t (D)

Yy

91, W’hm:: hot liquid is poured intg g thick

Cﬂﬂf N'ﬂ'- H C-ﬂﬂ]ﬂﬂl!."‘ﬂfﬁfs-“
16
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92.

Vegetables are cook
because
(A) Boiling point of walter increases

(B) Latent heat of vaparizat:
a it .
(C) Latent heat of ponzation of water decreases

(D) Boiline na: ‘aporization of water increases

H%t%m‘g point of water decreases . ) o %
i P IR O g T e TR W 6 O A
(A) ﬁﬁmm%m% !

(©) m%mﬁggzgﬁﬁfn o

ed in lesser time by adding a pinch of salt while cooking

251

93. Ina filament type light bulb, most of the electric power consumed appear as
(A) Visible Light (B) Infrared Light
C) Ultrm'mhle't Light . D) Fluorescent Light
TR F W we # I 1 sifueie frgm wfE wee @ @
(A) FIvHEmH (B) 3Tatad Wl
(C) Tdmft w3 (D) witiite wewra &
94. Alitlirdnagc formed by a plane mirror, that cannot be obtained on a screen is
calle
(A) Virtual image (B) Real image
(C) Ilé\éliTﬂtd igﬁﬁ!ﬂmﬁ (D) Erect image
T g4V g . B0 1o 902 W T AT P s weRe R, smEerman
(A) murt wfafars (B) arafys whafig !
(C) Iwrerwiafam (D) i wiatas
95. Conversion of sound energy into electrical energy is done by
Eg) ﬁ?lﬂf C‘I?:] (B) Gramophone
icrophone (D) Loud Speake
e o ) e ey s egker
(A) UECHT  (B) THRR () WEAWR (D) e
96. Which is used as a moderater in nuclear reactors ?
(A) Thorium _ (B) Graphite  (C) Ces .
Fivvh fiaaet 5 ves mnﬁqmgﬁmegu?m (D) Radium
(A) HIE[ A {B} AT (C} Fﬁ’Fﬂ'ﬂﬂ' {D] '-‘{ﬁ-m_q
97. Which is a pure element ?
(A) Glass (B) Cement (C) Sodi
T A0 GG T ¢ 7 itz ) Sodium (D) stecy
(A) & (B) (C) @rfzam
(D
_ﬁ“‘—-—-—_h____} Lot
Cﬂdl‘-‘Nn.- o —
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98. Which mineral does not contaim © Cryolite

: g) Bauxit¢
D e 8T () e (D) b,

(A) ¥ (B) T

99, Which gas is cnlnurec}i ?N'tmgﬂﬂ ® Chlorine (D) H}'drag
(A) Oxygen  (B) I |
ﬁm%?(ﬁ} aem (€ Sl (D) g

P

00. Fire-Fighting clot! made from |

J ( ;3: hl{,?c:ngcu E}fhsbﬂsms (C) Talc (D) Steatite
HAfERI} g a2l H
(A) = ) wwE  (C) & (D) itz

101. Basheshwar Mahadev temple is located at which place in HP 7 .
(A) Kullu (B) Manali (C) Manikaran (D) Bajaura
TR TETeE R fere wen i frn A fRE 8 7
(A) Feeg (B) WA (C) wfvrRm (D) &<

102. Who founded Shonitpur (modern Sarahan) in HP ¢
(A) Lord Krishna (B) Banasur

(C) VyasDev (D) Lomasha Rishi
ﬁwmﬂm(mﬂﬁ*m)ﬁmﬁézﬁs 1:
(A) WEFAFS  (B) EmmEy (C) =meq (D) ©imy

103. In which year first tribal festiyal ¢ inh?
et b : ival Pllwlalch Wwas celebrated ?

(A) 1987 B) 109y | e P

da. ’ (C) 1995 D
o ESHE:E:. :ﬂa: ﬂiuppﬂsed 10 be cremateq at which place i i{P) ? .
(C) Rampur B) Bijli Mahadey

LG E o — (D) Tang;
(A) (B) m%ﬁm%%%ﬁm_wmwl

105. Which ﬁ"'“!fisjuins p
(A) Mathreti ®) ﬂb;ar Near Chirgagp
T H BN w7 aspa in HP 9

(A) TutH

— a—
i
—— e e
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J06. The hills of Una district of HP are the |
(A) Shiwaliks (B) Aravallis
(C) Inner Himalayas (D) Pir Panjal

< <61 3 vt o) et € :
(A i (B) sl (C) e e (D) WS

..,“ﬁr Churah tehsil is in which district of HP ? _
'(A‘} HamJT]JLII (B) HI]EEFUI' {C} Mandi
U aede e wen & fra e @ 7 -
(A) TR (B) femm  (C) W D)
108, What is the length of Nangal Dam — Chururu Rail line ?
(A) 15 kms (B) 33 kms (C) 42kms (D) 47 kms

ATl WY -95% (o1 w13 o) o 71 R 7
(A) 15t () afeR (o) a2fF (D) 47 Tt

\}Hﬁ. The Army Headquarters was permanently setup in Shimla in which year ?
A EaTer forg ad vl w9 @ R § wifia ganan ?

(D) Chamba

(A) 1864 (B) 1678 (C) 1755 (D) 1802
146, Which book has not been written by Yash Pal ? o

(A) Dharti Hai Balidan Ki (B) PhoolonkaKurta i

(C) Dharamyudh (D) Uttaradhikan

& i T g A 78 for ? |

(A) utd @ afergA ) (B) e T FA

(C) vHEs (D) Ittt

\M'l/ . The headquarters of the Kangra Central Co-operative Bank is at
(A) Dharamshala (B) Kangra (C) Hamirpur (D) Baijnath
el FE gl 4 W HEITed ¢
(A) e d (B) FeE (C) wmd (D) Ay
112. Shilli Wildlife Sanctuary in district Solan was setup in which year ?
Ao foret 3 Rreet ISt I i e fha ad = o
(A) 1963 (B) 1973 (C) 1983 (D) 1993
_145_ The Girths cultivating tribe are found in

(A) Kullu Valley (B) Kangra Valley
(C) Shimla Valley (D) Pangi Valley

3¢ () =1 agTe & ATl S W e
(A) ﬁmﬂﬁ (B) FIMEEAT (C) faren urd) & (D) uhf e

19 Code No. : C-803pmy=——
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114.

115,

117,

. ¢+ knownl as
Central School at Jakhoo Was ””gmﬂ”(ji'i;‘n?laggs
(A) Prince Butler School (D) British
(C) CaigsButlﬁrSchuﬂl %gqﬁﬂmﬂﬁ"ml

AL BEHIGE s
ke AR i
(C) FmTTn T (D )
in

incely State revolt against their chie
People of Baghal Pnincely - T ) D

(A) 1886 AD _ (B) 1900 AD :
e TRl T 35 i v e & e ferie e o

(A) 3. 18865 (B) £a.1900 F (C) £ 1903 # (D) %.9.19057

Who was the first secretary to HP Vidhan Sabha ?
A) N.C.Nandi (B) C.R.Thakur (C) D.B.Lal (D) R.K. Maha;j

=1 WY U o 61wl A o 7
(A) @5 (B) Mam 3w (C) Sl @ (D) IM.F. T

Who succeeded Kehri Singh in 1811 AD as the Raj
. g ja of Bushahr ?
{g} Samsher Singh (B) Manender Singh
§ ) Raj Rup Singh (D) Tikka Singh
(,':;' %ﬁw%mﬁm?%mﬂfé@mwmm ?
TR ®) Wi () e fie (D) o fiiz

Public School
Public School

(A) Ajit Singh E
(C) Vijay T’Erman (B) Rupanand Singl? eror Akbar ?
TET%WW ( Partap Singh Varman
w::- e B TR (©) Rom iy @)
- 1Ich fort is not | P .
{g}) ;{;Faﬂfw fﬂnocated in Bilaspyr d(";ﬂ'ict of Hp 7 HﬁTcrﬁiig o
I'W'
%ﬁﬁﬂﬁ;%ﬁgg‘hrﬂim N (D; Elﬂhﬂdurpm- fort
(A) T e ﬁé“ﬁ?m%%ﬁmlmnriaﬂ
Who ®) T R (o ﬁm%?
there ;‘35 e ruler of Kangry R (D) -
Uf.ﬁis AD? &ra whep Chinese pj LEC e
1to ETimg Hl'lIEn T
Sang visited

(C) Kalyan
HHTET 1 T oy (B) Shang
('ﬁ‘-) Eﬁ;?}r E‘hﬂ'l: T’Tt:fg{-l, — (DJ pl‘i'l_hvi C

035y h
— " B - «hay
Cudenu_:c_aumgn (B) Wﬂ:‘{qﬁq ?g'-'ﬁﬁﬁtfmm Hﬂndga .,
e () R g
D) gufo.
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122,

123.

124,

125.

126.

127,

Roster : Dut)-: 2 Inventory ; 7

(A) Furnace (B) Ex ds
( Xports (C) Goo
AR AR G PY

(A) (B) Fafa (C) wE-"gmA (D) ¥4

25 is related to 37 in the same way as 49 is related to

o wom 25 el 2 37 3, s wwm g0 WA 2 H |

(D) Produce

(A) 41 (B) 56 () 60 (D) 65

Missing terms in letter seriesab b _bbaa_ are

P arert sjen 3 farge e § -

ab__ _b_bbaa_

(A) abaab (B) abbab (C) baaab (D) babba

Which letter is 14" to the right of 6™ letter from the left in English
alphabates ? w3
ST FiaTer 8 a1 @ 69 a7 3 o o 1491 FESE AR ? T

(A) G (B)y T (C) H (D) S

In a cerain code language the word ‘GLANCING' is written as
‘HNDRGLPH'. How will the word ‘COURTESY’ be written in that

language ?
forft faffew Sz W *GLANCING’ T2 ® *‘HNDRGLPH’ ferat simar 1

I 2w § ‘COURTESY' %128 %1 &# feran smam 2
(A) DQUXYHVZ (B) DQUXXHVZ
(C) DQVXXHUZ (D) DQXVXHUZ

In a certain code MEAN is written as 5123 and NOW is written as 368.
How is MOAN written in that code ? |

fireft Paffm gz # MEAN 1 5123 % ¥9 § 71 NOW %t 368 % =q % fra
FTeT & | 6 2 § MOAN &1 & ferar smam 2
(A) 5623 (B) 5263 (C) 5823 (D) 5683

In a certain code language jo kﬂ. re means full cup tea, ka po te means milk
in cup and jo te ma means tea with milk. What is the code for in 9

feet ffaa 52 s ﬁjn ka re &1 314 & full Cup tea, ka po te =1 319} 2 milk i
cup 37T jo te ma 1 19 B tea with milk, @ in % IGrE | FeRY n

(A) te (B) po
(C) ka (D) Data inadequate / TR 3t

21 03
Code No. : c-auarzuzsz'FFiEI
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128. From a point *Q" Alok starts walking 1owa

129,

130.

131.

133,

walking 23 m,
rds south and n:'t: :-.'hiq:h direchion

int *F"
he turns to his left and walks 40 m and rt.'ﬂf:hﬂ- point
is he with reference 1o the starting point *Q" 7 vest (D) gouth-East
(A) South-West (B) North-East (C) Nﬂﬂh';é’ﬁmﬁg,t;ﬂmﬁaz
mﬁﬂ 'Q'ﬁﬁﬁmtﬁrﬁnaﬁmmt FE |yﬁfﬂﬂ?f§3'ﬂ'ﬁ‘
m‘ﬁlﬁmﬁﬁmmmﬁﬂtmf&g'rwﬁﬂm
ot § ag fem fem i 2 _
(A) ZRmafam (B) I (C) Fwi-ufEm (D) fara-qd

“ind the
In a row of students, Amanya is 18% from cither end of the row. Fi

number of students in a row, (

FrerfaT 1 ww S, s 9fe i gE A ga f | i 3 Frefefal &0
AT 17 TG |

(A) 30 (B) 38 (cy 37 (D) 35

Painting 10 a photograph, a man said, “She is the daughter of my
grandfather's only son.” How is the woman related to the man ? '

(A) Mother (B) Daughter  (C) Sister (D) Sister-in-law
ETNTE € F NP0 O X UF O 3w, VER 5 g % uwa g

t~ | =2 wfeen 30 T @ fem wwn EefAm R

(A) mmm (h) g (C) wr (D) =l

Which institution has recently launched the *Swavalamban Challenge Fund
(5CF)"?

(A) NABARD (B) SIDB] ) {C) SEBI (D) RBI
form W A v 1 e YR wE (SCF) R pam A k9

(A) =mard (B) ferza (C) #di (D) I, w,

Mannu Bhanduri, who pussed away recently, was associnted with which

field 7
(A) Spons (B) Literature  (C) Politics (D) Business

e, s ma A B e, wEsu s S @ g

(A) W (B) wf= (C) T (D) ==
Which country won the T20 World Cup Trophy in 2021 9
(A) New Zealand(B)  India (C) Australig (D) England

2021 A0 e R fFm e I i 7
1) wTm o ,
(A) =@EFE (D) ©) ST (D) ke

Code Nao. ; C-RIL202 M 5eries-A 11
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118.

119,

2016 7
§34. Which country s set to host the first tribal nations sumrm: [;TTLUHSU
(A) India (B) USA (C) Ja ’“ L
2016 R WUT AT TET i werew ) ST D) ¥
(A) Y@ (8) gL (O ““”" ey 7
Uti‘. Which state has recently approved *Kaiser-i- -Hind® as the state BU y
(A) Assam (B) E{d”“ﬁ
(C)} Arunachal Pradesh (D) Ddis sy fw 7
WA A e | dm-u-fie uﬁnﬂfm‘#'“‘“ﬁ B i
(A) ¥ (B) fafers () e 557 (D)

the
. Which Union Ministry has recently launched 8 unified mobile app for

'Azadi ka Amrit Mahotsay® events 7 e
(A) Ministry of Extemnal Alfairs  (B) Ministry EI'EU:II;I':
%&‘L Mm'.stn.r of H{:mc Aflairs (D) Ministry of To Hl'f# P

3 Ea A R ) T Ay FRrEs SaLEL T
Frargel O ﬂﬂfﬁm ko o
(A) fm e (B) wepfwaem (C) TRAARR (D) WHIR WA

Which country formed a Parlizmentary Friendship Association with India
recently 7

) Srilanka _(B) N (C) Bangladesh (D) Japan
F‘Giﬁimﬂqmﬁiﬁmﬁﬂﬁmwm?

(A) e (By == (C) weem (Dy A

Which company has recently launched new smaller dish to connect with
satellites in low earth orbit 7

(A) Blue Ongin (B) Space X
g:;-; Virgin Galactie (D} NASA

b imﬂﬁﬁﬂgmﬁmﬂm%mﬂﬁ%m—igﬁmm

(A) |3t (B) ®RAwm  (C) s dfEes (D) =

Which country is set to host the UN Climate Change Conference COP?
(A) India (B) China (C) USA | At

= E
WA 202 4 L, Ll rAis & o COP27+#H ihrﬂ:ﬁ] mt
(A) VR (B) = ©) gwmu. (p ﬁ-ﬂ
“Historical Resolution™ which was in th 4 .
which country 7 in the news recently, is associated with

(A) USA _g]'l Jap:m _{C) China

T T form (D) ‘ucw Zealan

T ﬁ_ﬁJDJ “ﬁrﬁ
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¥ wiion oul of the four
Directions (. 141 to 145) : Choose the mod! appropriate ophie
given allemanves A B, Cand D to fill in the I:ldnk.- b
141. The opposite forces wenl on fighting {iC) -1;::;1[[” . (1) through

(A) in (ny  dunng
142, e does not like belier. . yself doing
(A) medoing () mine doing (C) my domng (D) my

143, As the festival approaches, the number of customers ___
(A) will be increased (B inr:rtﬂﬁi."ﬁ‘
(C) will have increased ([3) is increasing

they eam enough money

144. Boys are usually dependent on their parents

to support themselves,

() provided  (C) s0 (D) lest

(A) ull
145. | shall not do the work unless you me more mency. ¢ by
(A) pay (B) donotpay (C) shall pay () wan 't paj)
ate option out of four

Directlons (Q. 146 to 150) : Choose the most appropri en word.

alternatives A, B, C and D which is opposite In meaning 1o the giv

146. [him
(A) Bright (B) Understandable
(C) Loud (D} Clear
147. Callous |
(A) Confident (BH) Sentimental (C) Sensitive (D) Capable

148. Mortal
(C) Immortal (D) Divine

(B) Spiritual

(A} Eternal
149, Confess
(A} Deny (R} Refuse (C) Coentest () Contend
150. Scold
(B) Rebuke (C) Criticise (D) Praise

(A) Epamour
Directions (Q. 151 to 155} 3 Ehl:'hﬂ!-l!: the most appropriate option out of four
alternatives A, B, C and D which best expresses the meaning of piven

idinm/phrases.

{51, Toplaycnafiddle
(A) Toplay upona musical instrument (B} To play an impertant role

(C) To be busy over trifles (D) Tobe busy over important matter

Code No. 1 C-R032022SeriesA 24
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To oil the knocker ‘ pace
lp‘ ; {J“ To il'l:ﬂiﬂll‘t a person to do Ijﬂh {B} To do .lw:E Lﬁ[:i:;ﬂ'ﬂﬁﬁd
(C). Totip the office-boy (D) Toreviveo

| 53, Tolive fast

| (A) To lead a life of dissipation

(B) Toaccomplish a purpose

(C) Todo a task huniedly .
(D) To use up one’s income as fast ss it comes 12

154, To speak dageers
i (A) To abuse someone

—r —

(B) To

indulge in voracious talks

{(C) To speak to a person with hostility (D) None of these

185, Swan-Song

{(A) Music as sweet as a song of birds %ﬁ

(B) A melodious song in praise of someone

(C) Praise of a woman by her lover

(D) Lﬂslwufkuflpnctm-muaichnhefnmmih

| . 15678 160) : 71g 7rez TR0 | . *
EE’.{:&; mﬁﬁi‘l} mm} Ffrw (C) =ftwm (D) ndism
357, (A) whes (R) wiE® (C) wiwT® (D) Wi
(56 () T @) mwE(© W (D) T
Jsfm}-mﬂﬂ (B) s (C) smETm (D) ="
W{A}-wﬁa (B) (C) =ifim (D) =dm
. ifly freig B

o E;{Hﬂ (B) #+3w () B+3w (D) H+Im
1 f:' wmra

E‘f‘ (B) = (C) 4= (D) =l
Jﬁ aredt’ = whfe &

(A) wfer (B) it (C) wmefim (D) werf
ﬁ-'l.' i’ Wy g #
“ (A) T (B) T (C) i (D) Wit
165. “TEwe HamEd

(A) = (B) =il (C) wegea (D) v

i 25 Code No. : C-803/2012/Series-A
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I {Tm '@ e (©

JE7. m-’tﬂt i ) © %
ﬂ[ﬁimt ®) % ' B =
169. {F&M{B} e ©) R (D) fafe
m. wmmnuﬂ () e
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- Ily, not
</hich writee bas called Akbar's Din-i-llabi as a mogumeot of B3 ok

1" ¢ wisdom ?

_ _ : (D) W-Hag .
Badsuni  (B) Vinset Smith (C) Bami Iﬂ@mmmﬂ
ﬁﬁﬁﬁmtm-ﬁ-mﬁﬁwﬂm D) =4 T
(A) Wargh (B) fezfam (C) ¥
f 1 built at
U :rmmg}lmn o Dl | (C) Labore (D) A
W1 WA R |7 (D) HPT

(A) TN (B) feeeh (C) e

: 940 7

11 MMMAM?MWWTT?MNW‘“
' Nadiad Pavnar (C) _
%m-ﬂﬂﬁg}mim;rmnﬂ s o 7

W @ ww © ww O =

178. The Swadeshi Movement was launched
(A) As o protes agaioat divises L CE0
[‘B}w_lmmwnm &
(C) anﬂnglimnhnmmu of Indian people at ]““h““mm'?:‘h
() Dmmmrmtnfm:Bﬁmtﬁmmuummmdm
e i?hmmm
e ST W 3
@ T R B et i 1 s e e s 32w
A

. 3 vk @ aiE w3 fad & w9 A
% w wmmtmimmﬁmt.ﬂm

b s Act (B) Minto Morley Reforms

4 % imon Commission (D) _Pitts India Act
T TR T f T e a0 18 & e 3 gfer P w1 amen
w7

@A) tewe  (B) FiA-9F g(C) T TR (D) s i v
Jé British Crown assumed sovereigaty over India from the East India Company

in which year ? T L .

fafrm w7 3 fra o fe SR FE R ]

(A) 1858 (B) 1885 -

(% scanned with OKEN Scanner



181,

184,

Which fundamental right in th

ates that all persons

¢ Indian Constitution St
ws of the country |

shall be equally protected by the la (B) Right 0 Freedom .
Right to Equalit ; edom of Religio
Eg]} R;EJI:I azaig:?éxiluilatinn (D) Ri h%lgr;,ﬂ ;]-m-ﬁ:a;aﬂ S
R Hﬁmg i BN :TTP; difers Ll
w9 ®Y | qifgra &l 7 .
mmmm ((g; wﬂa'“ﬁ“m
HUHR e T +

% - provided in which

Separation of the judiciary from the executive has been

of the Indian Constitution ? _
E:J; Preamble (B) Fundamental Right
%D} Seventh Schedule

(C) Directive Principles of State Poli
mﬁﬁm%%pﬁmﬂﬁwmﬁg m%wwqﬂﬁmwwi?

(A) ST | (B)
(C) T=a % Hifa g frgra (D) @ FTHE!
Which .of the following statement is not correct 7
(A) Vice-President is the Chairman of Rajya Sabha.
(B) Vice-President of India acts as President at the time of a vacancy is
& occurred suddenly.
While acting as a President, Vice-President does not perfi i
o gh the office of Rajya Sabha. R V5 dutics
en Vice-President acts as the President, the duties of Presi
i ) _ : res!dent are
grﬂfm Mini:tﬁr.a person nominated by President in consultation with
s # & % @1 5o w2 -
Eg} :;mﬁlmm T g R |
T 39Tl T Tpata
F e R B 5 5 g 3 ey

2
(C) TR & ¥ F w74 Y
| mm“mmtmmmﬁﬁ

(g; Barmer o
ia D %Et

(A) wgin _
®) I om ) Hﬁ‘i‘zﬁamw i,

Code N+ CORRO Rerie ke (D) ST
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Court 7

ich is related to Advisory Jurisdiction of the Suprenmsupremc Court.

L (A) Speaker of the parliament seeking opinion from the o Court.
(B) Election Commission seeking opinion from the Supre
State seeking opinion from the Supreme Court.

(©) k
g; President of India seeks opinion on iﬂ%'ﬁ A R 7

(C) 1150 TSR JRIE A e a8 |
(D) mmmﬁiﬁﬁmaﬁmmw%'

. What is the system of local self-government in th
A) Single tier setup at village evel
2 Twao tier system at villaﬁe and block leve
1
D

¢ Panchayat! Raj setup ?

ke
Three tier structure at village, block and district level
None of these

MWmﬁmﬁ-mﬂwmt ? ﬁ
(A) Tiie R O T S

(B) ita i st T T &) i S

(©) m,mmﬁmmmmmﬂum

(D) i & =1 7

J87. Article 368 of the Indian Constitution deals with
{A} Emergency provisions iB; Amending procedure
C) Right to Elementary Education (D Right to Information
£

368
(A) FTTAHE = & (B) =ui wiwan &
(C) wrifirss fove an aferesr & (D) a1 AR

188. “The soul of India lives in villages.” Whose statement is this ?

A) Vinoba Bhave Jay Prakash Nara
c} Jawahar Lal Nehru ah o
v et # e R l"mm@amt ?um{}andh‘
(A) T wa (B) WS AEY
w.,@ AT HE® (D) e el
. The surface temperature of the sun is measured
@ﬁmwmm%t St

(A) 6000°C  (B) 12000°C 5
JDIfTheumnehulzisdetactedimhg (€) 18000°C (D) 24000 °C

A ' Becliih o
(&) Abore Areic Ocean. " (B)Rbove Anaraiounted ?
(A) HATHITH TETPR $ FHR .
(C) wra % Fw ((g)) ala%ﬁ'q:;%m
- A & Fq

29 mmﬁﬁ:‘*-
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193.

/Z ; : ore rain
. Why does the west coast of India receive M

_ . a large area for
ey 0 SECUTE B

For which of the following reasor, it 15 pecessary e
P ¢ Carbon dioxide (B
(A) Absorption of Carbon di More rain .
(C) Ecological bﬂlﬂncﬁﬁﬁqﬁﬂﬂ?g% =1 @Al e IEERED 2
f=ferfigs = @ fem w00 28 - T

pferen a9l

) Conservation of W

& fall from south-west

(C) wiftfeafada gae=

monsoon than the east coast ? :
(A) Unlike the east coast, this coast is straight. gl
(B) The Western Ghats obstruct the winds causing rainfall.
(C) The east coast is broader than the west coast. y

The Eastern Ghats extend el to wind directio
%mqﬁaﬁmﬁmmﬁﬂﬁgﬁmﬁm*ﬁqmﬁm
91 T w7
(A) i e & faufaag ae dian 2 |
(B) wivsdt are auf %23 areft gai &) Uehan & |
(C) FEi aeufraft e FMge A =tei 8 |
(D) 9T uve 957 % fgwn & gamim e @

Which has been declared as the marine Indi

e ho i park by Indian government for the
(A) Gulf of Kutch (B) Lakshadw
(©) Andaman slands ©) Gulfof Mummar

(&) FHH T (B) TR dvay(C) mm‘mﬁ)ﬁﬂ?

ot e O Oy (5 g,
= 'h_____.__iimﬂqﬁmtl (D) Shillong
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o at happens to & person who receive the wrong type of blood ?

(A) All the arteries constrict,
(B) All the arteries dialates.
(C) The RBC’s agglutinate,
) The s%“;%“g%mph gg{sﬁ deteﬁugﬂ:-t
Eal W f
(A) wft et e i | (B) Hﬁ““ﬁﬁ‘%mﬁl Lkl
(C) HHEH. wfvere & i | (D) i 3 b

(97. Cloudy nights are warmer because clouds mainly Earth
(A) absorb heat from the atmosphere and send it mwadeEl:;fh '
(B) prevent cold waves from the sky descending on the ‘
(C) reflect back the heat given by the Earth.
) producing heat and radiate it toward the Earth. ﬁ
gﬁlﬁﬁ_ T 7T Bt & it 7Y ?a‘tn i
(A) e & 3 it w0 & i 38 7 &l
(B) 3 § 9zt | T ATl 3t S @ W & |
(©) meﬁaﬁaﬂmaﬁmqﬁfﬁaﬁﬂ 2
(D) IS I FA & msﬁgtﬂaﬁﬁ&ﬂamﬂ |

198. The Rainbow has
(A) Violet light as its innermost colour towards earth.

(B) Its curvature bends towards earth.
(C) Red light as its outermost colour towards sky.
(D) Rg:l light as its innermost colour towards earth.

et e gt 1 i e e € R

$ ARSI 2 |
) s et e T8

(D) et STl et o) I g1 At o1 g & |
199, Match stick uses

EA) ;:fp fhmm (B) Black Phosphorous

=
i%mmaaﬁem;aﬁ A

T HEERE (B) el HHIH

(C) STft FrHRE (D) v &=
200. At room temperature, the metal that remains liquid is

(A) Mercury  (B) Platinum  (C) Lead | i

F4i AT T 5a e 4 €] @A 9w Uiy ) i

(A) T B) ®fEm  (C) D) W
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